


Diag. Part No. Description Qty Supplied Comments
Ref. as Spare Part

- PUA594 Assembly Instructions 1
- PUA477 Product Carton 1
1 RTA306 Table top 1
2 CMA034 Vacuum Hose 1
3 RTA347 Protractor (complete) 1
4 CMA082 Tapered Hose Adaptor 1
5,6+7 RTA398 Locking Hook with bolt & nut 1
8+9 RTA399 Insert Rings (small & large) 1
10 RTA328 Alignment Tool 1
11 RTA320 Router Plate 1
27 RTA343 Sliding Table Insert 1
33 RTA392 Fence Assembly (excludes MDF faces) 1
34 RTA373 MDF Fence Face 1
35 RTA396 Rear Guard Assembly 1
35a RTA383 Rear Guard 1
36 RTA382 Front Guard 1
37 RTA360 Fence Bracket 1
43+44 RTA401 Shim set (2 x 1.0mm + 2 x 1.5mm shims) 4
45 RTA374 Micro Adjuster Assembly 1
46+47 RTA405 Pressure Finger Set (2 x bent & 2 x straight) 4
48 RTA363 Spacer 1
49 RTA366 Plastic washer 1
50 RTA395 Finger Post Assembly 1
51 RTA419 Router Sub-plate 1
52 RTA402 Inner Slider Track with bolts & nuts 1
53 RTA351 Sandpaper Facing - Protractor 1
55 RTA378 Fence Bridge 1
56 RTA403 Fence Clamps - Round Knob & T-bolt (pair) 2
61 RTA410 Clamp 1
63 RTA412 Clamp Spring 1
64 RTA424 Clamp Knob - includes nut 1
66 RTA420 Fence Spring 1
70 RTA406 Table Locking Latches (set incl. rivets) 2
- RTA394 Plate Clamp Tree (comprises 12, 13 & 71) 1
- RTA416 Router Clamp Tree (comprises 57 & 62) 1
- RTA391 Slider Tree (comprises 28, 29, 30 & 31) 1
- RTA423 Router Clamp Upgrade Kit 1
- RTA417 Fence Tree (comprises 67 & 68) 1
- RTA425 Fence Upgrade Kit (comprises 65, 66, 67, 68, 38) 1

FASTENERS
- RTA421 Fastener Bag 2 - Router Plate Components 1
- RTA359 Fastener Bag - Pressure Finger Components 1
- RTA422 Fastener Bag 4 - Fence Components 1
- RTA381 Fastener Bag 1 - General Components 1
- RTA387 Fastener Bag 3 - Sliding Insert Components 1
6 M4 x 35 Countersunk Screw
7 M4 Hex Nut
21 M6 x 45 Countersunk Screw 
26 M6 Flange Nut
32 M6 Hex Nut 
38 M4 Nyloc Nut
39 M4 x 25 Countersunk Screw 
53 M6 x 60 Coach Bolt
22 M6 x 16 Countersunk Screw
59 Washer
65 M4 x 45 Countersunk Screw
57 CMA040 Round Knob 1

Specifications:
Packed weight: 12.3kg Pack Size: 725 x 560 x 110mm    Volume: 0.0447m3

Paint: Epoxy powder coat (oven cured) Colour: Telecom Gold & Silver

Router Table - RTA300
Supercedes earlier model RTA300 - July 2002

Not sold separately
Available in Fastener Bag


